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C/C++ 79910 : /N P50

(1 - 4 MYRY) MNaAN MORYN 4 TINN 7253 MORY 2 by navd v

15573 19INS), PYanEN bW SPYN TIBYa 795D NN DS N3 11t nonw by oy - (5117103 20) 1 9991 AYNY

M
- NND YD NND 23T TP DY MIYSNKNI AT XN

‘\ . (head) 7wx7 -3 (tail) 7an” . MMPI 2 090 XN APYNNN
74 .

y ) X MOPTNP 199100 ,(Point) 1Py Npdnnn X 1IN0 ¥ (MNP 6) (N

POINT W (private 31T - Int DIV APINN MINYN MNVY) NTIPIN DY
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272 PAYTHINY 5PN N2IND Mx»nn  Email apbnnn 1o

class Email {

char addr[MAX];
public:

Email(char *address);

void setEmail(char *address);

char *getEmail();

int equal(Email e);
b
NPoNPN MRy Email N2n2 NN DN ISM0 e TWND 1 ninn equal mospnan

DMIN VNN NN PN .TPNINN
VNN IPONKRN NPIPN 53D NORYA ToNN2 NN W

Email 2010 D0p»2IN DV Ty NYapnn NP9 N30 v (M) 10) (N

to_find m901 5PN NN ,TIVNRN DTN NN LOMNDIN MIND DY TIVN0)

NDNON IWND -1 N TR to_find Yy OPTPND DN PINN 71ONPNON
STyna Ny NO to_find

T DN ,OMOIN MAIND DY TN NYAPND TPIPNS INDT v (MTIP) 10) (2

YOND TISPNON .IWTN 5MNON NAINDY MY IMDON NAIND Q0N TN

UNNYND 110 .OYITNN NN ANIN PONM TV MO N2INDD NN
JN Y00 PPN
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19913 19IN3Y,1I3NAN Y AYYR TINED NISTH NN DIYIY NI 198 AIRY by 1y - (51993 20) 4 99N HONY

NN TIPN O NN (MNP 7) (N
int *p, arr[]={0,1,2};
p=art;
*p=3;
arr[ 1]=arr[0]+1;

"o

cout<<arr[0]<<" "<<arr[1]<<" "<<arr[2]<<endl;

INAD TPN OO N (MTPY 7) (2
char str[]="abcde";
str(strlen(str)-1]="0";

cout<<str+1<<endl;

INID TP OO PR (MNP 6) ()
Int 1, j;
1=10;
J=14++;
1=j++;

cout<<i<<" "<<j<<endl;
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VHDL : 73 7%p

(5 - 10 mbdxY) MNAN MONYN 6 7NN 7253 MONY 3 Sy nayd v

{9913 19INGY, VIANAA YV AYA TIYE NITM NN BIWAY N Tt noww by iy - (T1YTIP) 20) 5 9991 nhYNY

SIINAD PINN M

NYDIDN ,INTHN TPINNNN INNAY 7NN AN PI1TNL PSY v (MNPl 10) (X
N2 DOWIN DY TAPNY N TP 7DYYNMOMN PDYINIOPNIT U2 DY DIV

library ieee;
use ieee.std logic_1164.all;
entity dff is
port (clk, rst: in std logic;
d: in std_logic;
g: out std logic);
end;

architecture rtl of dff is

begin
process (rst, clk)
begin
if rst='1' then g<= '0';
elsif clk'event and clk = '1' then
g<= d;
end if;

end process;

end;

library ieee;
use ieee.std _logic_1164.all;
use ieee.std logic_arith.all;
use ieee.std logic unsigned.all;
entity testSA is
GENERIC (Size: INTEGER:= 4);
port(d, clk, rst: in std logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for gen of test3A is
COMPONENT dff
port{d, clk, rst: in std logic; g:out std logic);

end component;
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1t

SIGNAL gSig: std _logic_vector (Size-1 DOWNTO 0):= (others=>'0"');

SIGNAL dSig: std_logic_vector (Size-1 DOWNTO 0):= (others=>'0"');
begin

dSig(0) <=4d;
out loop: FOR i in 0 to size-1 GENERATE

boxs: dff port map(d=>dSig(i), clk==>clk, rst=> rst,
g=>gsig(i));

dsig(l)<= dsig(0) XOR dsig(3);
dsig(2)<= dsig(1l) XNOR dsig(0);
dsig(3) <= dsig(2) WHEN dsig(l)=dsig(0) ELSE dsig(1);

___________ \ /T

e

=qSig; e
end; * qSlg, CTS’S( )
,0777WY D190 NN YW DIRXINT NITO X DIV v (M) 10) (2
‘17 moapn d NoomM L0 -n Reset aNXD ND°NNN NOIWRNY NINY 1N IWRD
2P 1PINa
10 nx DWWAD W AMNNN MK DX .ININND IR DY ,TPINNN N 17 TO DX
(0 -1 9912) 7253 DNURIN DXANHN

STPINYY NX 1200 NP Y03
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19513 19N, INANAN Y A9UN TIMYA A99DR NN DAY N 1t AENY Yy oy - (1 TIP) 20L6 9901 NYNY

Anput = 710007 : PN DPYON 552 IWND ,ININ NIDIND NN
o2 div_by 15917 DY DN MMNN DX 1INY 0N JNY MINIIVN DR DOV ¥

YRIN PYYT NINND NYNN 2T I8P DIDN JNNIY NN W count -7
library ieee;
use ieee.STD LOGIC 1164.all;
use ieee.STD LOGIC ARITH.all;
use ieee.STD_LOGIC UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic);
end div;
architecture div of div is
signal count: std logic_vector(size-1 downto 0);
begin
process (rst, clk)

begin
if rst = 'l' then
count<= input;
div_by<='0";
elsif clk'event and clk = '1' then
if count = 1 then
count<=input;
div_by<='0";
else
if count > SHR(input,"01") then
div_by<='0";
else
div_by<='1"';
end if;
count<=count-1;
end if;
end 1if;

end process;
end;
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{9593 19INGY, IYANBN S AWUN TIY AIDTH DN DIVAY N3 11t noxw by - (F1VTID) 20L7 99013 NINY

A 33y - MDY ON DIPN DY, DX2ANN 1NN TIAY (MTIP) 20)

ANY 0’ -2 50ns MYI) VD NI 100ns NI YYD MNNY N
{'1’-250ns

NI ANV HPN) THNID NOIN Y, NNINM NN 4 PITV NIN 9Py 1IN Oy

1909 PN PYVNNNY MINNNY NN 2INDY
HPON TP NIV ION TIP NN : VN

1%} ap)
DINN NN NP>T2 YI2) 4 -N TN INNX MIVIR WA -D DM C -5, B-D A -230n0
(A -5 902

S YNV DINDID

“01” :A axn
“10” :B asn
“117:C as3n

din="11"

din="01"

din="11"

ENTITY test?7 IS
PORT (rst, clk: OUT bit;
din: OUT bit vector (1 downto 0);
otp: IN bit);
END;
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{059 J9INDY,TIANAN BB APUN TYA TSR NN DAY N Tt A 9y sy - (YT 20) 8 9901 nYNv

: N2 PYNNN PN
LIBRARY IEEE;
USE IEEE.STD LOGIC 1164 .ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD LOGIC;

vecl, vec2: IN STD LOGIC vector (3 downto 0);

bigger: OUT STD_LOGIC_vector (3 downto 0));
END;
DNOPNN TN MIDN MPN) HIYY PXPNY N0 v (MmN 10) (X

CDNVPNN MY PAN NV AN DOND IR PINNY (D010
LDMININ T3 wnnwny 9min .o mININaY vecl, vec?

N2 NYRNYN PYPNY NNNPH DNVPLIIIN POINY W, nyd (MNP 10) (2

MYTN DN 2 NN MYIN ,PYY NINN 952 70 NNINY ¥ 21¥7 Nom2

NNYNY

Y INY 10D T DO DYIRNN NP OPON YOV PITIY NVINKRD 7OV
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10973 191ZY , NYARKA YW 1YYN TIYI NrSbR PN DIWAY Ny 11t v by sy - (ST 20) 9 y90n nHNY
£33 TPIDINND INVNY 7IINT X SO W (M) 10) (N

LIBRARY IEEE;
USE IEEE.STD_LOGIC_ 1164 .ALL;
USE IEEE.STD_LOGIC_ ARITH.ALL;
USE IEEE.STD_LOGIC UNSIGNED.ALL;
ENTITY test0SA What IS
PORT (clk, rst, inp: IN STD LOGIC;
otp: OUT std logic);
END;

ARCHITECTURE arc OF testO09A What IS
SIGNAL a, b, c: std logic;

BEGIN
otp<= (c AND b) WHEN inp='1l' ELSE
(a OR D) ;
process (clk, rst)
begin

if rst= '1' then
a<= 'l'; b= '0';
elsif rising edge(clk) then
a<=inp OR c; b<= a; c<= b XOR a;
end if;
end process;
end;

1% TPIDIND INNAY NIDIND DX N W (MMp) 10) (2
LIBRARY IEEE;
USE IEEE.STD_LOGIC 1164 .ALL;
USE IEEE.STD LOGIC ARITH.ALL;
USE IEEE.STD_LOGIC UNSIGNED.ALL;
ENTITY test0SB_ What IS
PORT (clk, inpl, inp2: IN STD LOGIC;
otp: BUFFER std logic);
END;
ARCHITECTURE arc OF test09B What IS
SIGNAL a, b, c: std logic;
BEGIN
process (clk)
begin
if rising edge (clk) then
a<= inp2; otp<= b OR a;
end if;
end process;
b<= inpl WHEN inp2= '1' ELSE c;
c<= b WHEN (a = inpl) ELSE (inp2 OR otp);
end;
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19913 193831, 793NN YU IPYA TNV NY90N DX TIYIY NI TR AYNY DY 1y - (m‘ﬁ@ 20) 10 ﬂQV’D ﬂbN\’)

.DNYYD DXV 20N TP 1IN0 NON T NONYA

dl d d2 d

d(1) <= q(2) XOR q(3);

d3 d q3 d(2) <= d(3) AND d(1) WHEN d(1)=d(3) ELSE
d(1) XOR d(2);

. c
ox d(3) <= q(2) OR q(1) WHEN g(2)=q(1) ELSE
—1_—' q(1) AND q(2);

(Clocked Process) 7NN YWY 12010 TONn 900 M 2020 v (MM 20)
TIPN 92 70 .0WIANIY NPON0N NN MPDAPN TP T ,00205TN NIy
20 DOWINND NN PNTHI N POV

N7TAN AW NIXRNYND NN

d(1) <= q(2) XOR q(3);

d(2) <=d(3) AND d(1) WHEN d(1)=d(3) ELSE
d(1) XOR d(2);

d(3) <=q(2) OR q(1) WHEN q(2)=q(1) ELSE
q(1) AND q(2);

DYINT DMINI0N 1230 MAYN MHYN
19070 XN d -) 393070 X3 XN g N r=Reset, c=clk :Dvnav onvTa .1
Signal »on mnix on d(1), d(2), d(3), g(1), g(2), q(3) .2
bit non MMND Yow Y L3
TP YT MINKR,DWIND DYY 0MIN01 wpnwny nn 4

NMDYN NN NODINN IR PRIY NN IR ,TIPY MMX Pomy M .5
anyyna
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